I5 4 H 3R B4 F# & SHI64E
A | H I5H M= A% HEEE % &
40 1 BEEBE 150,000 150,000
10| EHEAE ,(;i ?ﬁ’;ﬁ%%ﬁut% > 1,000 149,000
11| ERERE XAV 1,040 147,960
19| BERHMERLE DNXEDELIERER 100 147,860
25| ERMERE NXEDELERER 7,320 140,540
5| 2|EMMERE DNXEDELIERER 60 140,480
1|BHEE BEOMERS 13,000 127,480
11|FHEE RBHE 1,340 126,140
14| BRHERE AXENOELIEREF 80| 126,060
14| EFMERE AXEDELIERER 90 126,010
14| BRHERE AXEOELIEREF 80| 125930
21| EMERE F—f& 1,958 123,972
7| 6|FHEE XEE 14,940 109,032
23| ERMERE AXEDELIERER 140 108,892
3N|EHERE IXENELIERER 1,020 107,872
8| 9|EMMERE ERUE 1,380 106,492
14| BRERE AXENTLIEREF 2,220 104272
20|HHEE THSEEREFER 4,500 99,772
21| EMEAR a%%ifm%%&m*% 2,276 97,496
21| EMBAR 2?2;?%%%?“*55% 480 97,016
21| EHBAR ;21%%*535%%%& 480 96,536
9| 13|EMMERE AXEDELIERER 60 96,476
17| ERERE DNXEDELIERER 60 96,416
10|  4|ERMERE AXEDELIERER 10 96,406
4| EHIERE DNXEDELIERER 60 96,346
10| EXMERE AXEDELERER 10 96,336
(IE&E] 150,000 53,664 96,336
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A | H HH = A&ZE &8 =3
BITTE KU #i 150,000 53,664 96,336
10| 19|BERMERE 198 1,259 95,077
1| 5|ERIERE AXEDELIERER 160 94,917
13| EMERE AXEDELIERER 90 94,827
12| 12| ERMERE AXEDELIERER 80 94,747
1| 14|BRMERE AXEDELIERER 150 94,597
2|EMEBEAE FESORE-EHIEER 1,980 92,617
28|WHEE §E£$ o *ﬁ‘% RBAR 60,230 32,387
28|HHEE THEREE 22,980 9,407
28|HHEE HEERE 3,600 5,807
30| EXMERE AXEDELIERER 90 5717
2| 4|EHBAE P et I 3,500 2217
1| ERMERE AXEDELIERER 20 2,197
11EMERE AXEDELIERER 720 1,477
14| BRMERLE AXEDELIERER 70 1,407
3| S|EFMERE b—H 1,632 -225
19|BERMERLE NXEDELERER 920 -1,145
(IRAET) 150,000 151,145 -1,145




